Big Exam #3, SUSTAIN, Schwartz Name

L

1) From 25 meters away from a building, I shoot a water balloon up at it with a speed of 20 m/s, at an
angle of 60° above the horizon.

a) How high do I hit the building?

b) What is the velocity of the water balloon when it hits? (please give angle and magnitude).
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2) A 2 kg object has a 0.2 coefficient of friction against a vertical wall in
my apartment as I push it upward. If I push at an angle of 30° above
the horizon on the box as shown with a force of 100 N, what is the

box s acceleration? - please include dlrectlogzand magnitude.
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1) From 25 meters away from a building, I shoot a water balloon up at it wilj&\ speed of 20 m/s, at an
angle of 60° above the horizon. /4_ -

a) How high do I hit the building?
b) What is the velocity of the water balloon when it hits? (please give angle and magnitude)
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2) A 2 kg object has a 0.2 coefficient of friction against a vertical wall in
my apartment as I push it upward. If I push at an angle of 30° above
the horizon on the box as shown with a force of 100 N, what is the
box’s acceleration? - please include direction and magnitude.
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Big Exam #3, SUSTAIN, Schwartz Name o
1) From 25 meters away from a building, I shoot a water balloon up at it with a speed of 20 m/s, at an
angle of 60° above the horizon. =

a) How high do I hit the building? {P

b) What is the velocity of the water balloon when it hits? (please give angle and magnitude).
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2) A 2 kg object has a 0.2 coefficient of friction against a vertical wall in
my apartment as I push it upward. If I push at an angle of 30° above
the horizon on the box as shown with a force of 100 N, what is the
box’s acceleration? - please include direction and magnitude.
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Big Exam #3, SUSTAIN, Schwartz Name -

angle of 60° above the horizon.

1) From 25 meters away from a building, I shoot a water balloon up at it with a S\]gcﬂ 0f 20 m/s, at an

a) How high do I hit the building?

b) What is the velocity of the water balloon when it hits? (please give angle and magnitude).
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2) A 2 kg object has a 0.2 coefficient of friction against a vertical wall in
my apartment as I push it upward. If I push at an angle of 30° above
the horizon on the box as shown with a force of 100 N, what is the
box’s acceleration? - please include direction and magnitude.
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